& doubtnut

India's Number 1 Education App

MATHS

BOOKS - RD SHARMA MATHS
(HINGLISH)

COORDINATE GEOMETRY

1. Plot the following points on the graph paper

. P(3,0) (i) Q( — 4, 0) R(0, 5) (iv) S(0, — 7)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Dfw1wo40xOVU

(fig)

o Watch Video Solution

2. In which quadrant do the following points
lie? (i)(4,2) (i) ( —3,5) (iii)( —2, —5) (iv)

(47 o 2)

o Watch Video Solution

3. In which quadrant do the following points

lie? (i)(4,2) (i) (—3,5) (ii)(—2, —5) (iv)


https://dl.doubtnut.com/l/_Dfw1wo40xOVU
https://dl.doubtnut.com/l/_MyF4SxVY8ic1
https://dl.doubtnut.com/l/_KFeQG29BOUBc

(47 o 2)

o Watch Video Solution

4. Plot the following points on the graph
paper : P(3,0) (i) Q(—4,0) R(0,5) (iv)

o Watch Video Solution

5. Plot the following points on the graph

paper:


https://dl.doubtnut.com/l/_KFeQG29BOUBc
https://dl.doubtnut.com/l/_7tz9teHJNyvF
https://dl.doubtnut.com/l/_xZ40ACcOcLya

(iv) (7, — 4)
) (—3,2)
(vi) (7, 0)
(i) ( — 4, 0)
(viii) 0, 7)
(ix)0, — 4)

(x) (0, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_xZ40ACcOcLya
https://dl.doubtnut.com/l/_aZg3czcCSEG7

6. The point of intersect of the coordinates
axes is: (a) ordinate (b) abscissa (c) quadrant

(d) origin

° Watch Video Solution

7. The abscissa and ordinate of the origin are
(a) (0, 0) (b) (1,0) (c) (0,1) (d)

(1,1

° Watch Video Solution



https://dl.doubtnut.com/l/_aZg3czcCSEG7
https://dl.doubtnut.com/l/_AARjhXLpirXc

8. The measure of the angle between the
coordinate axes is (a) 0° (b) 90° (c) 180° (d)

360°

o Watch Video Solution

9. A point whose abscissa and ordinate are 2
and — 5 respectively, lies in (a) First quadrant
(b) Second quadrant (c) Third quadrant (d)

Fourth quadrant

° Watch Video Solution



https://dl.doubtnut.com/l/_NeQn06KNWlXe
https://dl.doubtnut.com/l/_waz9IxaEKi05

10. Points ( — 4, 0)and (7, 0) lie (a) on x-axis
(b) on y-axis (c) in first quadrant (d) In second

quadrant

o Watch Video Solution

11. The ordinate of any point on x-axis is (a) O

(b) 1(c) —1 (d) any number

o Watch Video Solution



https://dl.doubtnut.com/l/_waz9IxaEKi05
https://dl.doubtnut.com/l/_M8cR7x0tt306
https://dl.doubtnut.com/l/_zDGnP7bRaKSk
https://dl.doubtnut.com/l/_l2o4QcWhXU2g

12. The abscissa of any point on y-axis is (a) O

(b) 1(c) —1(d) any number

° Watch Video Solution

13. The abscissa of a point is positive in the (a)
First and Second quadrant  (b) Second and
Third quadrant (c) Third and Fourth

quadrant (d) Fourth and First quadrant

o Watch Video Solution



https://dl.doubtnut.com/l/_l2o4QcWhXU2g
https://dl.doubtnut.com/l/_rVzvrzfhdMhT

14. A point whose abscissa is —3 and ordinate
2 lies in (a) First quadrant (b) Second quadrant

(c) Third quadrant (d) Fourth quadrant

o Watch Video Solution

15. Two points having same abscissae but
different ordinates lie on (a) x-a xi s (b) y-a xi s
(c) a line parallel to y-a xi s (d) a line parallel to

X-a xis

° Watch Video Solution



https://dl.doubtnut.com/l/_CVdZFFSwchME
https://dl.doubtnut.com/l/_nL2y6yT79cDx

16. The perpendicular distance of the point
P(4, 3) fromx-axisis(a)4 (b)3(c) 5(d) none

of these

° Watch Video Solution

17. The perpendicular distance of the point
P(4, 3) fromy-axisis(a)4 (b)3(c)5(d) none

of these

° Watch Video Solution



https://dl.doubtnut.com/l/_nL2y6yT79cDx
https://dl.doubtnut.com/l/_vZY3fhabt6gQ
https://dl.doubtnut.com/l/_vOsDGl6FEFIr

18. The distance of the point P(4, 3) from the

originis (a) 4 (b)3(c)5(d) 7

° Watch Video Solution

19. The area of the triangle formed by the
points P(0, 1), Q(0,5) and R(3,4) is (a) 16
sg. units (b) 8 sq. units (c) 4 sq. units (d) 6 sq.

units

o Watch Video Solution



https://dl.doubtnut.com/l/_vyL5KsjquaUl
https://dl.doubtnut.com/l/_pHulHyHem36T

